Yo

S Haryana]Jobs.in
1. Who was the writer of ‘Desan Mein Des By MAmmRm L
Haryana' ? 1. R g gfam’ & das #m a7 t
(A) Lakhamichand (A) TEdras
(B) Uday Bhanu Hams (B) =3 ""ﬁ!m
(C) Dayachand Mayna (C) Tz AR
(D) None of the above 0y @ W
2. Biggest State of India In terms of area Is o A i T H e w EeE T '
{A) Maharashtra (B) U.P. (A) TETRTZ (8) g1 iy
(C) Rajasthan (D) None of the above (C) T (D) 3% & AT
3. The amendments which have created | 3. ot g H e T TR Fe
uniformity in the structures of Panchayath Raj % gl A wAEA T w &
and Nagarapalika institution across the 1
country are (A) 74 3 77 (B) 733074
(A) 74 and 77 (B) 73 and74 !
(C) 76 and 42 (D) 21 and 61 (C) 76 42 (0) 21361
4. Intemal communication within Institutions 4. HI-‘EHE'-ﬁ Fofm A ENT
is done through mmﬂ‘ﬁmm% | :
(A) WAN (B) LAN (A) WAN (B) LAN
(C) MMS (D) EBB (C) MMS (D) EBB
5. Select the word which is least like the other % 9= ﬁﬁmﬁh A H 5 71 § Had
words in the group. Fn e g |
(A) Othelio (B) King Lear (A) shded B) T
(C) Oliver Twist (D) Macbeth (€) sifemfeam= (D) H=aw
6. Gurudwara Dhamtan Sahib was built in TR A AT A e
the memory of AT T |
(A) Guru Gobind Singh (A) TE nfz foe
(B) Guru Nanak (B) % AHH
(C) Guru Tegh Bahadur (C) '{[E';T!'I TG
(D) MNone of the above (D) F H | 18 e
7. hhmtnfaamwatvamm;anmmplm @mm%mﬁ mgd
atadistance d, from the focus and the real
image is formed at a distance d, from the all 9t T‘i’t ﬂ;z;mﬂt EisIGED ﬂiﬁiaﬂ 4,50
focus. Then the focal length of the mitror is TS & | ol ) e < ¢ tJ
() aidz (B dd (A) Vdd, ®) dgd,
+ : d,+d
-_-{Q} {citC) d, (D) F (C) ( '2 2 (D) '%
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B Whichofthalollowing States hasaseparate | g, fysaferfan 1 & et v 7 P i b 7
(A} Jammu and Kashmir (A) st 3l e
{lgi Nagaland (B) AT
Karnataka
(C) FAlzH
(D) West Bengal (O) i T
€ Which of the following Is not a world o. frafarftea @ 8 T~ wrea #f v fawa
heritage site in India ? Feprrera wae T B 7
(A) Ahmedabad city (A) STERETETE AT
(B) Hampi group of monuments (B) FHTCR 1 B e
- (€) Beluru-Halebeedu sites ©) s —werEtE T
{D} None of the above (D) S o @ w0
10. Phalgu fest is held in Faral village on 10. ETE 018 H He] I0AE e R
(A) Nirjal Ekadashi (A) Taster vaasi
{B) Somavati Amavasya (B) AT ATEE
(C) Kartik Purnima () G q‘ﬁitn
(D) None of the above (D) Fa H A 13 A8
11. Who is the current Speaker of Haryana 11, i famEa & adar S am R 1
Legislative Assembly 7 (A 7 e e
(A) Abhay Singh Chautala 5
(8) Manohar Lal Khattar LI S
(C) Kanwar Pal Gujjar (C) - uid LS
(D) Santosh Yadav (D) ety A
12. ___ represents billlon characters. | 12. v td W mm L4l
~ (A) Megabytes (B) Kilobyles (A ﬂnﬁm{a (B) FreramEs
_ (C) Terabytes (D) Gigabytes (C) TTATERH (D) frmanges
'_=1s. ‘Baisakhi is usually celebrated on 13. SamEt AR |
(A) 14" of April (B) 25" of April (A) 14 3% (B) 25 0=
{C) 1% May (D) 31* December (C) 1HS (Dy 31w
' of 400 100 people like . 400 ST & U TANY H, 1manﬁaﬁtim
0 like ﬂra iufﬂﬂ ﬂ"d 178 % B, 150 ) A0f 0 T e & o
ber. -?saa’taﬁfmmmim?ﬁﬂa et At
2] T THE F AT @i 6 e B
[A} 100 {B) 250
(C) 175 (D) 225
, araﬁrﬁi’l wAwTa § ST S
HeaqmE wHI R

(A) Fa-aa-g  (B) M
() wa-frelt  (©) iﬂfﬁﬂ'@fﬁqﬂ
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16. World's only habitat for Asiatic lion found in

17.

18.

18.

® Jaw

which of the following National Park ?
(A) Bandhavgarh National Park

(B) Gir National Park

(C) Mukurthi National Park

(0) MNone of the above

Constructors are used to
(A) Construct the data
(B) Initialize the object
(C) Both (A) and (B)
(D) Neither (A) nor (B)

The mean of the first 'n’ natural numbers is

iy el (8) ""'"T”:'
(C) g (D) None of these

On 22 JanuarEElﬂS. PM Marendra Modi
Iaunehgd the ‘Beti Bachao, Beti Padhao
Yojana' in which of
Haryana ?

(A) Kurukshetra
(C) Chandigarh

the following city of

(B) Panipat

{D) Panchkula

A magnetic needle lying parallel to a
magnetic field requires W units of work to

turn it through 60°. The torque needed to
maintain the needle in this position will be

®) {Ew

D) Cousir
s

15.

17.

18.

19.

21,

22,

Iﬁlllllllll
uftrar 31 3 forg fva 71 Fae wE s
fafafa i & g om sam 08 7
(A) =TeETE T IUE
(B) fim g 3mm
(C) HFH U 3uH
(D) I 3 & g T
FRAR__ wugwmEn
(A) sTF2 T
(B) =g 3 w1
(C) (A) 30T () 2
(D) A7 (A)TH (B)

S ' WTfen HEaa w5 ana 2

n+1 ) n{n-]-‘{}
(A) =N (B) ST
(C) g (D) FHAFE
%Wgn%ﬁ,mﬁztﬂﬁﬁ
ST, = 91 " g &
Fretferfian & & oy e i g ) 2
(A) Fwer (B) 9T
(C) =&z (D) w=gen
U T &1 3 I e g U g
T F1 60° qH F g W zEE B
AIEA 8 | g F 5 Rt f s
% fore aifss st e 2
(A) J3W (B) l‘?w
(C) W (D) 2w

TR A 318 & a1, ‘ot 4 i) A 13
% T T8 1 T | g A Red wn

(A) T (B) T

(C) wré (D) =y T
TR it o T H T S
(A) Tl (B) =&

(C) Mt (D) T




Z4.

* i Gurugram.

26.

AR

g_s, Gomplnm the analogous palr

Bird : : Aaropl
{A) Submarine
(C) Boat

roplane
{B) Ship
(D) Crocodile

T-.';u water taps together can fill a tank in
aE hours. The tap of larger diameter takes

10 hours less than the smailer one to fill
the tank separately. Find the time taken by
the tap with smaller diameter to fill the tank
separately.

(A) 25 hrs. (B) 20 hrs.

(C) 15hrs. (D) 18 hrs.

i& & folklore Museum situated

(A) SriKrishna Museum
;51 Jahaj Kothi Zonal Museum
€) Urusvati Museum

(D) Dharohar Museum
‘ma countries who have been considered
ﬂ'mfnunding members of ASEAN, are
{A} India, Malaysia, Philippines, Singapore
and Thailand
{B} [nma Maiaym Philippines, Singapore

© tmmasin mlavs’m. Nepal, Singapore
and Thalland
rmjk ln‘chBaIa MHIR?W Ph“lpplnw

26.

3/2018 (2)
wE g o # | '
efl - qoel ¢ BATE A9 ¢
(A) THEE (B) wEm
(C) = (D) HTw=s

2% qrft 3 e U 2 9 Erak ke

£ |z mﬂwﬁﬁifauiam
mﬁmaﬁﬁ%muﬁmmzﬂ

| 3 e & WA & o g e e e

Foa T TR A 1A FE |

(A) 2552 (B) 205

(€) 1542 (©) 18%2
e o e U S -EA

et

(A) mwmm

(B) FETH HIS) HEeid AU

(C) e BB

(D) SIEL FIEEA

g 27 T8 ASEAN o HEaTTs weell & #1

7 ST Al .

(A ST, e, psfe, f St

® . qﬁ&mwmw

() Fenifma, weifi, e, e K

B | 0
(D) e, s, fhee, R
3fn 9EEs

: m T S BT AR & a0HH A

P Y
(.u.] wet feim wEr
[B} qhﬁmﬁ'm



(C} Protected

Mahatma Gandhi '-'._-_ .

railway station of Haryana

(A) Palwal (B) Panchkula
(C) Kalka (D) Amritsar

is the present Lokayukia of
Haryana.

(A) Pritam Pal

(B) Justice Nawal Kishore Agarwal
(C) Kaptan Singh Solanki

(D) None of the above

Which element is deficient in milk 2
(A) Potassium (B) Calcium
(C) lron (D)  Magnesium




R TERT
ar. Co-oparative farming b
?:a;:r.‘:%ssfu! in T4 je00Mme more
enmark (B) Australi
(C) USA O) India

41.

42.

MNumber of banks nationali i
1969 Is R

B D Eienn

Who is empowered to suspend the
operation of Fundamenial Rights 7

(A) Parliament (B} Supreme Coun
(C) President (@) Prime Minister
Kalpana Chawla, the first womar of Ind
origin to go 1o space was bormn in lhusrré?a?;r;
(A) Kamal (B) Hiszar

(C) Kurukshetra (D) Panipat

If x;, 2y, 3z are in A.P., where x, ¥, Z are

distinct number and are in G.P_, then the
common ratio of the G.P. is

(A) 3 (B}

1
]
5
(D) 5

{€) 2

This district of Haryana has highest number
of Vidhan Sabha constituencies

{A) Gurugram (B) Panipal

(C} Hisar (D) Yamunanagar

Which of the following do you feel are

‘compatible with the idea of seculansm ?

(A) Recognition of State religion
(B) Domination of one religion

(C) Equal State to support all religions
(D) None of the above

Wy Central Government released

UMANG app, it is for

(A) Online banking

(B) Single window platform for all e-Gove.

Services
(C) Registering child sexual abuse
:

(D) None of the above

oTe

37,

39.

40,

41.

42,

b 312018 (2)
HERRIFM __ Aemmwsa et d
(A) BT ﬂﬂﬁ'ﬁ.“"ﬁ Ei
CERNE (©) W

1969 ¥ A1 Ui gy A o) v b
(A) 18 (B 0

(C) 14 (D) Fam & 2 =0 =i
e ST % Tamm =) St g
) wifde frd g b 7

(A) ww (B) Wt e
(c) w=fa () FoEER

et ¥ ) st § SrEe) e
ﬂﬁww1mﬂﬁl'§q{mqmq:;ﬁ;ﬁ
(A} AT (B) ﬁrm;

(C) F5%3 (D) R

T2 x, 2y, Bz WO A0 0 2, =l x, v, 2 ot
wed § i s Aef o & @ e

syoft 1 FTHE ST 8

(A} 3 (8) %

€ 2 (D) ;

it % =8 Fre o st fEaeen =7 E
EER

(A) TEIH (B) Wi

(©) Team (D) AT

wufaaran =) ST & A4 S
Frfafan | @ -2 gEm a7
(A) T o = =R

(B) 1 i &1 e

(C) #vft el = Fwd AN BHE T
(D) ¥ W A A T

. wrE d H, Fr w3 I’ o e

R wfem®

(A) AT i <

(®) it 3-Traitz dast vy e faeh
EHH

(C) = A v wre o T

(D) 3 H & W AR |
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Haryana was the first Saté
to achieve 100% rural elect

(A) 1947 (B) 1955
(C) 1970 (D) 2000

The radius of Ge nuclide is measured 1€
be twice the radius of 4BE°_ The number of
nucleons in Ge are

(A) 71 B) 72

(C) 73 (D) 74

If Z =52 and ACT = 48, then BAT will be
equal to

(A) 39 (B) 41
(C) 44 (D) 46
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g4~ The Interaction between sea an t
has stinging tentacles and th:::::: I?:t: 51. 9B Hﬁ#i:;’fi'q‘[ =1 29 TEE a1 aEl B
that lives among them, |s an example for 3t TEAATE f’fﬁ?mﬂ%mm
oA Mutualism (B) Amensalism TAﬁ il ,% l'
Wy Commensali D } SLElEal {Bl AT
- ralatada::: l( e = (C) wEsarET (D) Tisifam
> 'ﬂnﬁ‘ﬁ related to at’inthe same way 52, ‘T’ A ?H&E?ﬁﬁ?% 3t TR Ty
1A} Horse (B) Lamb —‘—“L Ay e 1{5} o
. Shivalik hills &
¢ _1:;"-'; ikl ol present in the __ 53, firnfers GEEat S % g |
A) West (B) East (A) g @) T
{©) North-east (D) South-west ©) I-H (D) afem-fEs
54. Which of the following is a fl i k o
D thon 8.0 7 g is a floored division | 54. ﬁ?ﬁiﬁﬂﬁﬁﬁﬁg?mrﬁmﬂ 307
(€} % (D) - (€) % (D) -
55. Value of kin the quadratic equation g5, Frerdl BT 2¢ + kx +3=0 H K HH
o3¢ 4 ot + 3= 0 50 that it has 2 equal roots is t ﬁf@m?ﬂﬁmﬁﬁ
()t (B) +2/8 (A) +4 (B) *2/6
(C) 3 (D) None (C) +3 (D) s
56. Bhagwat Dayal Ehharrna wwahs mﬁ:r%santmg g6, S \TTEa aATE T ﬁﬁﬂvﬂ % waw T
constituency whan he became wfafafaea
the first CM of Haryana. :z;g'? ™ B
(A) Bhiwani (8) Tosham Ay T (B) @
_{Gj Pataudi (D) Jhajiar (€) TEEl (D) T
~ Non-Performing Asset (NPA) which is 57. AT G (NPA) =1 faset @sa’i‘! #
. g h&:g"“ﬁ from past several years. it # 2, 98 AFHE |
: --“m""m ik (A) = R
@) #m 3
(C) e FaFEl
o (D) T T A FE A
gj:[ndapmﬂdasmsawaﬂm 58. ﬂmﬂﬂqﬁﬂﬁﬁﬁammiiage@ﬁmﬁaﬁi
Sand  Sabha. Initially Erg‘éﬁﬁ foen Hitel 1 SARE T
Now it has been mﬁg&maﬁ%ﬁc‘mmw
1 September, a | mzﬁenznﬁaﬁl fean T & H
m&aﬁfad in Lok 201 gﬂq-; ﬁ'ﬂ
SsTare %mTam mmt
(B) 38and 27 (A) 843l a7 (B) 38 27
oftheabove | (0) 443k 3T © e 1 8

s F



3!2513{2] e uG._35%,T-ﬁr=
59. II"P =840,C,= g5, then 1 = 59 qf :'r =840 (B) 24
(A) & (B) ‘;“ :c: 4 (D) 5
(C) 4 (D)
inad by many QE‘F‘III'._':'-'J 60. TS TIE
0. Acturcer drmned Dl OIS | % e g e 1 0 T ——
known as el % 1
(A) Qualitative character (A) TETTEHER GLk
(B) Oligogenic character (B) aregsii-1 &
(C) Quantitative character (C) qmeﬁ AT
(D) None of the above (D) IHH @ i Tl
: i g 2 | af v v
61. The mean of six observations s 8. If each 1. el =61 A ; il
observation i mmf.ﬁed by 3, then new ) a3 qn Fra e, 1 AIE B
mean becomes (A) 1 (B) 8
Egi l; {gl 94 (C) 48 (D) 24
) (D) 2
62. |f the word CAPITAL is written as g2. 7f2 CAPITAL T2 %l DCSMYGS ﬁj@ ﬂ
DCSMYGS, how the word NATION is T 2, Al NATION ¥res i 361 F2 3 Lo
' written in that code ? foan som 7 O™
(A) OCWMTT (B) OBVLST (A) OCWMTT (B) OBVLST
(C) OBUJPU (D) OCLML (C) OBUJPU (D) OCLML
63. First Clone Dolly was made in 63. UEe FiiA Bicl | = |
(A) Sheep (B) Goat (A) B (B) =l
(C) Cow (D) Buffalo (C) TH (D) &=
64. F"ga;at?[ngh wﬂcgn me Aﬂpﬁn Gan;?ﬁ gold 6a. A1 TEE 3 1966 3 1970 F T WEH W
al in consacu e edilions O a
games n he 1966 and 1970 for which of i ot e Fefefia & Fore @e # S 7
e ng games (A) ST B) T vl
(A) Weight lifting (B) Boxing &z l
(C) Running (D) Badminton (C) (D) Fzfr
65. Which of the following States or Union g5, Fmtetaa § & frm osa @ g witE w0
Termitories has highest density of population ? 1 SE B fiEan @ 7
(A) Delhi (B) West Bengal (A) feeh (B) i @
ﬂ:} Maharashtra {D} Mone of the above ':C} m {D:I T ﬁ ﬂ- aﬁg qﬁ
66. TangﬂnvEr is a tributary of _ §6. anTi & floEas e |
(A) Yamuna (B) Ghaggar — i
(C) Ganga (D) Markanda (A) ﬂﬂ'—ﬁ )
. (C) T (D) TEE
-10-
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67

) unsolicited e-mail message sen
-<cipients at once is a ey

i} Worm
«C) Threat

(B} Virus
(D) Spam

~aw many Schedules are there |
'lanstitutign i rRiine
By 12

) 395
(0) 10

wjy 19

Gandhiji began his walking from :
.:.‘-ahrﬂm towards Dandi u?-. Sabaramati
(k) 12 March, 1930 (B) 12 March, 1930
1C) 12 Apnil, 1930 (D) 12 March, 1931

+"mest goid sol is

{A) Red (B) Pumle
(C) Golden (D) Blue

Consider the following statemens :

1. GCirrus clouds are formed at high
altitude,

2. Cumulus clouds are look like cotton
wool,

3. Stratus clouds are the layered clouds

covering large portion of the sky.
4. Nimbus clouds are black or dark grey.

Identify the correct statements.
{A) 1,2and3

(B} 2,3and4

{C) Only3and4

(D) All the above

7u.

—  ——  “incolour.

71.

is wari was one of the main
: mgfﬂ?nd?anﬁgbeﬂian of 1857 in
] Haryana
E (A) Rao Sukhram
(B) Rac Tularam
(C) Rao Gujarmal Singh

" (D) Rao Ruda Singh
73, POP3 and IMAP are e-mail accounts in
- i{ﬁ}' 'One automatically gets one’s mail

" everyda
® Efvnﬁéyhas?tobe connecled to the :
' server o read or write one’s mai
One only has to be connected to the
server 1o send and receive e-mail

One does not need any lelephone

LU & .1 1-—

&7.

69.

70.

?1!

72.

3/2018 (2)
U, A H FE TR Y sy vy o it
e e R
(Ay Ffi () (B) =
{C) (D) ¥m
wiftrr 8 Bl srmfai § 0
(A) 395 (8) 12
{c) 19 D) 10
st 3 ] WA A A
Tt a1 3w I e
(A) 1274, 1930 (B) 129m, 1932

(C) 12 ¥, 1930 (D) 12979, 1931

SHEAiE = E@ T A R
(A) &1 (8) i

(C) gl (D) e
FreferfEs wae o et -

1. "z A9 SO A B

o, Tl i =4 44 fraa £

3. i 0 TR A B S s
% s M1 F) Areeiad F § |

4, =9 HY T W T ST ER E |

Tl T T |

(A) 1,231 3

(B) 2,344

(C) =aet 3 31 4

(D) JFam =it

gt =1 gw T i | 1857 & i

Forfre ¥ e il 14w

(A) T8 gam

(B) 9T

(C) A o fiiw

(D) Ta %= i

POP3 31t IMAP T waraz & formil

(A) Tl =1 3o e Wi = five el @

(B) Toreh 0 st et aad i Rre &
feoe wefe & sy e @

|
FH EEEUREGH

(D) frelt =0t = sft 2fereim @ )
ST A8 Tt
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3/2018 (2) dafia’ U AERT w5y
i hana, 74. wiady £ sta
Harhacharta was wihen By  sanski ey E e STy
i aSCr -
g::-;;ciatmn wilhu"'r%gnesﬂr. arE § afoid (B) Fiferard
(A) Bhasa (B) Kalidasa (A) ¥H (D) =&
(C) Banabhata (D) Dandi (C) e e
75. Human Development Index issued by 75. #rE ﬁa;g T{ﬂ*ﬁ
(A) IMF (B) World Bank forar s # | .
C) UNDP None of the above (A) " IMF ‘e o # #1d 3¢
e o
: d moter in the (76, e ufd g FwEIfET F
L synthesis of aﬁ;?}?]iafy ?—Igg;r’s process, U dtie & &9 H 9EE B |
(A) Antimony (B) Arsenic (A) et (B) T
(€) Molybdenum (D) Iron (C) wifemzay (D) wiEn
77. Haryanvi tradition credits for 77. ddu = deft i Afa @e‘ > ﬁ'q‘@'ﬁmmaﬁ
laying the foundation of the present style qrgn w1 =l 8 |
of Swang.
(A) Kishan Lal Bhaat (A) fe s e
(B) Pt Deepchand (B) W.<dMu=
(C) Dayachand Mayna (C) =7r=e 7
(D) None of the above (D) 39 # & 1 7
78. The 4: term of a ‘{21;‘1.P.f is square of gs 78. Um Wgﬁfﬁ'q #uft = Eﬁ'%‘ﬂ;ﬁ ;{1‘4‘3 g
=second term and the first term is — 3, A E M ameaz—3 3
then the 7" term of the G.P is 2vft 31 7 5 7z >
(A) —2187 (B) 2187 (A) -2187 (B) 2187
(C) 343 (D) —343 (C) 343 (D) —343
78. Complete the analogy. 79. HuEYH gt Hifsm |
8:28:27:7 8:28:27:2
o B8:28:27:9
(A) 8 (B) 28 29 (A) 8 (B) 28
(C) 64 (D) B5 Eﬂ v (C) 64 (D) 85
80. misto!iticiﬂ'? I?satg a ral{la disg??tinn of ‘E‘ET@ 39 UsHifo = , ST 3y
~ 8erving as Min rin the undivided B g
EUHJ&E, Hﬂiaarhﬂﬂ and Haryana {,’ % ﬁﬁ%mﬁmmﬁww
(A) Bansilal LW
(B) Choudhary Tayyab Husain 63 (A wHETE
(C) Zakir Husain (B) eﬂuﬂgaz;:@q
(D) Choudhary Yaseen Husain (C) Fnf
& (D) et e gd
81. I the sequience of number 81. W5 8 13
5, 8, 18] x, 34, 55, 89, the value of x is :":_'m % » 13, %, 34, 55, 89 % #¥q 1
AU (B) 21 (&) 20 ®) 21
(C) 23 (D) 29 (©) 23 (D) 29
-12.




g2. A coinis tossed twice. The j
that at least one tail appaarsp T:hab e

1
(A) ®) -

L[

2
3

4

4

(C) (D) 0

Which of the following Is an ©
word processor ? . heh s

(4) MS Word
{C) Kwrite

(B) WordPerlect Office
(D) MS Excel

The remainder obtained when 8" -
divided by 25, is il

(A) O
(C) 1

(B) 10

(D) 5
e,
(A) RNA interference

(B) DNA interference

(C) Green revolution

(D) None of the above

e received the Jnanpith Award for
her contribution to Hindi literature in 2017.

(A) Vanitha (B) Shankha Ghosh
(C) Pratibha Ray (D) Krishna Sobti
87, The number of terms in the expansion of

 eri)

I: _._' .'B— {B} 29

© = © 12
- who acled as a caretaker

o s

3/2018 (2)

g2, U faak w1 3 AW IUIE AR | FH A
T T T 2 B A it R
® 5 ® -
(©) % (D) ©
Ba. Freferftes # & 2 -w TR @0 72
il

(B) =TETTHR HHH

(A) T TEFE
(C) FEe (D) UH UE wEEE

8" - 5n =1 25 & fawfom =3 W wr=
T R
(A) O
(C) 1

e FW
g i faefi e s
(A) W, . T, EIOHE
(8) #. T U. FTHH

(C) &t #ifa

(D) 3w if & T 7

=1 2017 # fiedt wnfeea & 3%
T g e e e |
() =P (8) ¥@ =M
(©) Rl (D) Fwm et

(B) 10
(@) 5

wiera

87. ((gma}‘)’ 3 P wal e B

(A) 8 (B) 29
(C) 28 (D) 12
88. “maﬁ%ﬁ%mm%aﬂm
wﬁﬁﬁ%mﬁﬁ#ﬁﬁmt
(A) i
@ .=
(©) . &, 74
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English Language
¥ o & WA
Fill in the blanks with appropriate aricle, 85. ';HT‘H:FFHT 'ﬁ:{; tt?
89, Tagore was truly great poet. (B) =7 FH
(A) a (A) ﬁ R Tl T
(B) No article needed (C), SR €
(C) the 96. ‘fegm izt qeray = 3 B
£2).an (A) =R FA
80. There is not man hera who will (B) ™71 =Tl
not support vou. tﬂﬁ’ﬂ]"ﬂ
(A) a (B) Not needed € mﬂm
(C) an (D) the (D);
Supply suitable verb in agreement with its subject. 97. PREEA SRR CoF
HTE FEd B 7
91. ;’lw m?-.:,ns employed by you (A) argEy 8 f&
{ A”j' - (C) == (D) gt
t{g}; Iware 98. UF +UF = U+ dE FH-d1 @ 7
%) s o
(A) =g =Yy
D) N :
(D) None of the above (B) A EfY
92, "E-]inr:kﬂi, as well as Arabic, taught (©) Ffe =t
(A) was (B) are T] s
(C) were (D) have 99. “EWugd § l”saamﬁmwﬁ
Select the correct expression from the given ok
\ options and fillin the blanks. (A) & ug (B) ® g
93. He was much by his loss, Rl Bl 5w
(A) cast away (B) cast down 100. "Y1 3 Herre 7 T 27
(C) castoff (D) callup a7
4. Areligioushope __ a man in pis () AT
trials, i (B) i ar=
{fg;-' E‘?’f#-gﬂay (C) %4 ar=
S (D) +r$ ¥




